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QUESTION 1

An administrator configures two VSANs on an HP Comware IRF virtual switch. The IRF members connect to a server
with two Converged Network Adapters (CNAs) One CNA is connected to VSAN 1. and the

other is connected to VSAN 2 The storage target for the server is also connected to VSAN 1 and VSAN 2. What is
required for this setup to work?

A. The HP switch must place the ports connected to the server CNAs in a link aggregation set to static mode
B. The server CNAs must support multi-path I/O (MPIO)

C. The HP switch must place the ports connected to the server CNAs in a link aggregation set to dynamic (LACP)
mode

D. The HP switch must support multi-path 1/0 (MPIO).

Correct Answer: A

QUESTION 2
What is an appropriate situation for configuring an interface as a silent TRILL access port?
A. The interface connects to another TRILL switch, which has a higher DRB priority than this switch

B. The interface connects to a downstream non-TRILL switch, which is connected to another TRILL switch. The
administrator does not want the interface to carry encapsulated TRILL traffic.

C. The interface connects to a downstream non-TRILL switch, which is connected to another TRILL switch The
administrator wants the interface to provide a backup path for encapsulated TRILL traffic

D. The interface connects directly to server NICs. and it is a bridge aggregation on an IRF virtual device.

Correct Answer: A

QUESTION 3

An HP Comware switch supports FCoE in Fibre Channel Forwarder (FCF) mode. A switch interface Ten1/0/1 connects
to a server FCoE Converged Network Adapter (CNA). The CNA will carry normal data traffic and storage traffic for
VSAN 2. which is associated with VLAN 20. How does the administrator assign FCOE traffic for this CNA to VSAN 2?
A. by accessing the VSAN 2 configuration view and specifying Ten1/0/1 as a member port of the VSAN

B. by accessing the VLAN 20 configuration view and specifying Ten1/0/1 as a member port of the VLAN

C. by setting Ten1/0/1 to FCoE mode and specifying VSAN 2 as the port access VSAN

D. by binding a VFC interface to Ten 1/0/1 and specifying VSAN 2 as the VFC interface trunk VSAN

Correct Answer: A
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QUESTION 4

Refer to the exhibit An HP Comware switch is configured to support FCoE in Fibre Channel Forwarder (FCF) mode.
Serverl should be able to discover storage targetl and target2. but not target3. Assume that the zone-aliases have been
configured to reference the FC devices correctly
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Which zone(s) should be added to the active zoneset?
A. zone 1, zone 2, and zone 3

B. zone 1 and zone 5

C.zone 4

D. zone 6

Correct Answer: D

QUESTION 5

A multi-tenant data center with 12 tenants has the following goals:

Isolate tenants to enable each tenant to have its own routing space

Isolate the data center\\'s services in its own routing space.

Allow for some leaking of route information among tenants and company services
Which feature should be configured on the data center routing switches?

A. MPLS

B. VPLS

C. MDC
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D. Multi-VPN-Instance CE (MCE)

Correct Answer: C
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